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	Qu
	DISPLAYING DATA
	(
	(

	
	I can identify the type and strength of correlation
	
	

	
	I can use a line of best fit
	
	

	
	I can construct box and whisker diagrams
	
	

	
	I can construct histograms
	
	

	
	I can interpret histograms
	
	

	I need to practise …. 



Name:


DISPLAYING DATA: Grade A





Key descriptor: Construct and interpret a histogram including unequal class intervals 





Score: __________/15	Grade:______





© M.J.Nixon 2006  									








© M.J.Nixon 2006  									











Overall, for this homework I think my success level is: 




































































Grade A


3 marks

























































































Total = 





_____/15











Grade D: 1 mark     Grade C: 2 to 5 marks     Grade B: 6 to 8 marks     Grade A: 9 to 15 marks











�





4.	The histogram shows the ages of people at a cricket match.  Use the graph to complete the frequency table below.
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Frequency�
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1.	The scatter diagram shows the wingspan and length of some birds of prey


�


a)	Describe the connection between wingspan and length.





___________________________________________________________________





b)	Draw a line of best fit on your diagram.  Use it to estimate the length of a white-tailed eagle with a wingspan of 80 inches.


____________inches





c)	Explain why it would not be sensible to use the diagram to estimate the wingspan of a goldfinch, which has a length of 4¾ inches.





___________________________________________________________________





2.	The table below contains results in a French test.  Draw a box and whisker diagram for the data.





24�
6�
9�
10�
31�
16�
7�
23�
9�
19�
25�
27�
4�
14�
25�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
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3.	The table below shows the times taken to complete a Suduko by some people.





Time�
Frequency�
 �
�
0�
≤ l <�
10�
5�
�
�
10�
≤ l <�
15�
9�
�
�
15�
≤ l <�
20�
16�
�
�
20�
≤ l <�
25�
22�
�
�
25�
≤ l <�
30�
13�
�
�
30�
≤ l <�
40�
8�
�
�
40�
≤ l <�
60�
3�
�
�



	Show this information on a histogram.  Use the graph paper on the next page.



























































Grade C


2 marks








Grade D/C


2 marks








Grade C


1 mark











Grade B


3 marks









































Grade A


4 marks





Low                High
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